TR 2100553 Flange Kit

For NEMA 56C Flanged Pumps to J609a Gas Engines

SPECIFICATIONS

Part Number: 2100553

% Dimensions: 55" x1”
O Weight: 0.75 Ibs
O Materials: Aluminum(flange)
m Steel (hardware)

(2]
-
4
LU
Z
o
o
=
O
o
L
=
14
(]

FEATURES

* Allows NEMA 56C flanged pumps (with 3/4” hollow shaft) to attach
to J609A gas engines.

* Quick and easy assembly

PARTS LIST

(/2]
|_
2 No. | Part No. |Description .
% 1 2450017 | Flange, Adapter, NEMA 56C to J609A, Aluminum 1
O 2 2201001 |Bolt, HHCS, 5/16"-24 x 3/4” Long, Steel, Black Oxide 4
% 3 2203512 | Lock Washer, M8, Serrated Spring, Steel, Black Oxide 4
O 4 2203511 | Lock Washer, M10, Serrated Spring, Steel, Black Oxide 4
(&) 5 2201000 |Bolt, HHCS, 3/8”-16 x 1” Long, Steel, Black Oxide 4
1T
=
(14
(]
NSTEM Ce, £/=
P General Pump 5,5“% S
&% is a member of | — ? ®
@& the Interpump Group \l\\\DNV'GL/z" 310147-Rev. A

N 000017 1118 GENERAL PUMP



GENERAL PUMP 4 vembe: of the interpump crou 2100553 Flange Kit

For NEMA 56C Flanged Pumps to J609a Gas Engines

¢5%"B.C.
FOR NEMA 56C

4X 3/8"™16 UNC
THREADED HOLES

) @ 1.620 PILOT
038 sc
FOR J60%9a

ASSEMBLY INSTRUCTIONS

STEP 1:

ATTACH FLANGE TO GAS ENGINE WITH (4)
5/16” HEX-HEAD BOLTS AND QTY (4) 5/16”
SERRATED LOCK WASHERS. TORQUE TO
10-20 FT-LBS. (THREAD LOCKER OPTIONAL)

STEP 2:

APPLY ASMALLAMOUNT OF ANTI-SEIZE
COMPOUND TO SHAFT OF MOTOR (OP-
TIONAL), THEN INSTALL PUMP USING
QTY (4) 3/8" HEX-HEAD BOLTS AND QTY
(4) 3/8” SERRATED LOCK WASHERS.
TORQUE TO 10-20 FT-LBS (THREAD
LOCKER OPTIONAL)

GENERAL PUMP 1174 Northland Drive *+ Mendota Heights, MN 55120 310147-Rev. A ®

Phone: 651.686.2199 « Fax: 800.535.1745 « e-mail: sales@gpcompanies.com * www.generalpump.com 11-18 GENERAL PUMP



